57 6B LB RO TPHE RS IR 7 7 RERRE S
BIfle NT VYA I NA L 7 AEZIT A

[%57]
400mH
T
FA1§3F4) 56.51
N7
FEAE5(4)53.80 2{7 PB

800m

Tk

/NHLIESE(L) 2:01.69
/NHLIESE(L)  2:02.76 ZEDA

1500m
Tk

/INE TR AR TR(4) 4:20.87
B KE5(4) 4:14.67 PB
/NHILIELTE(1) 4:09.06  UB

5000m
SRR (4) DQ,TB
FLERK(3) 17:10.29
HRTERE(3) 17:16.43



4X100mR
Tk
(AL A]
A
RAE}4)
HEEMI)
FERRACHH(M2)  42.95
[11%¢ B]
HANERZ(1)
I ER(1)
BRI HRA(1)
A HUA(L) DQ.R1
YN
A1)
RAE}4)
HEEMI)
RERACEAM2) 4274 6/

4 X 400mR
T

HANERE(1)

HEEMI)

A H ()

EAIE@4) 32777
HANERE(1)

HEEMI)

A H At (T)

FEAIgH4) 32568 2



& Bk
R (3)  1m85  41ff

L NE Bk
BERRACHI(M2) 6m91(+1.1) 3 {if

= Btk
REZRACEA(M2) 15m19(+5.8) 1 4%
B AML(1) 13m48(+3.9) 5/

f AL
I A(3) 11m64 3/Z PB



[Zz+]
4X100mR
Tk
15 FLMER(2)
TE A B (4)
LIS T5(4)
HEASATQ) 5180
15 FLMER(2)
TE A B (4)
LIS )% (4)
HERAZTQ) 5170 61

L NE Pk
HRAZLFQ)5m88(+2.2) 1. UB SEHAA I L BIEUEZ
{5 LM (2) 4m88(+1.1)

=Bk
(1157 J(4) 10m66(+1.7) UB

A

FEEERQ)29m12 347

XUB - RFHCDANA B PB--HCRZ b
DQRI-HA& (T A7 « A—R—= = NTNR MU RRANET LR T2)



